Page 1 of 2

Spare parts list / High pressure cleaner cold water / Electric motor / Xpert HD 7125 (59708430) / 3.0 Motor

3.0 Motor

file:/\\A053554-4933fd1\DI SIS 2010\data\terp\00-12-79-5F-1F-91Artur\printxsl.html  29.09.2010



Page 2 of 2

pos part no. Qty. |Description from ser.nr. |up to ser.nr.
0 46236150 1 Motor complete
1.514-116.0/-121.0 /-122.0
0 | 46238150 | 1  [Motor complete
1.514-117.0/-118.0/
1 50706390 1 Tank oil
2 50633890 1 Cover
3 63031530 1 Screw M5x15-ST-A2R (IN6RD)
4 50941270 1 Bearing cover B
5 56000600 1 Blower wheel
6 56920810 1 Air circulation
7 63033200 4 Screw M 5x 20-St-R2R
8 63621610 1 0O-Ring seal 19,3 X 2,4
9 73670010 1 Radial shaft seal ring A24x37x7 -NBR DI
10 74011550 1 Ball bearing 6304-WAELZLAGERST DIN 625
11 58022880 2 Mounting part
12 64012890 1 Wobble plate
1.514-117.0/-118.0/
12 | 64012560 | 1 [wobble plate

1.514-116.0 /-121.0 /-122.0

13 73031080 2 Screw 5x20 -10.9-R2R (In6Rd)

15 90861690 1 Wobble plate screw M8x16

17 62880500 1 Engine oil 1L

18 57670050 4 Rubber buffer

19 74011280 1 Ball bearing 6202-2RS -Walzl.St DIN 625

3.0 Motor

file:/\\A053554-4933fd1\DI SIS 2010\data\terp\00-12-79-5F-1F-91Artur\printxsl.html  29.09.2010



